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FACULTY OF COMMERCE & BUSINESS MANAGEMENT 

B.Com. (Gen/CA/Bus.Analytics) CBCS II-Year (III-Semester) Regular Examinations, Dec-2022/Jan-2023 

Business Statistics-I 


Time: 3 Hours                      Max Marks: 80 

 

 

              SECTION-A     (5x4=20 Marks) 

Answer any Five questions from the following 

 
 

1. How does statistics help Business management? 

  

  

2. What is Sub-divided Bar diagram? 

  
  

3. Find the Third Quartile of the values. 


69,75,72,71,73,74,76,68,70
 

4. For a moderately skewed data, the Arithmetic mean is 200, the coefficient of variation is 8 

and the Karl Pearson’s coefficient of skewness is 0.3. Find the mode and median. 


 

  

5. If  bxy=0.8, byx= 0.3, Find the value of co-efficient of correlation. 

 bxy=0.8, byx=0.3 
  

6. What is secondary data? 

   

 

7. Prepare a histogram from the following data. 

  
  

 

 

       

8. Explain the positive and negative correlation. 




               SECTION-B     (5x12=60 Marks) 

          Answer all the following questions 

 
 

 

9.   (a) Explain the Techniques of sampling. 

  
    (OR) 

      (b) What is tabulation of data? Explain the advantages and limitations of a table. 

       



Contd……2 

 

X 0-10 10-20 20-30 30-40 40-50 50-60 

Y 15 20 18 16 5 4 



 

:: 2 :: 

 

10.  (a) Explain various types of Bar diagrams with suitable examples. 

           
 (OR)

      (b) Draw a pie diagram to represent the following data. 

      
 

Expenditure item 

 
Amount 

 
Food 

 
400 

Clothing 

 800 

Recreation 

 
300 

Education 

 100 

Miscellaneous 

 150 

Total 

 
1750 

 

11.  (a) From the following particulars, calculate average mark of the students. 

                 
Marks 

 10-15 15-20 20-25 25-30 30-35 35-40 

Students 

 400 750 1800 4500 2500 1400 

 

(OR) 
 (b) Calculate the median for the following data. 

       
  

  

 

 
  12.  (a) Two Brands of tyres are tested with the following results (i) state which Brand of tyres 

      have greater average life and (ii) compare the variability and state which brand of tyres 

      would you use on your fleet of trucks. 

      
(i) (ii) 

 

Life (in ‘ 000 miles) 

 

Types of Tyres 


 

x y 

20-25 1 0 

25-30 22 24 

30-35 64 76 

35-40 10 0 

40-45 3 0 

Contd……3 

x 10-20 20-30 30-40 40-50 50-60 60-70 70-80 

f 24 42 56 66 108 130 154 
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(OR)
      (b)  Calculate Karl Pearson’s co-efficient of skewness. 

         
   

 

 

13.  (a) Calculate co-efficient of correlation from the following data. 

      
 

Particulars 

 
X series 

X 
Y series 

Y 
 

No. of items 

 
10 10 

Arithmetic mean 

 

65 65 

Sum of square deviation 

 

5398 2224 

Sum of product of deviation of x and y=2704 

x,y 

  



(OR) 
     (b) Calculate the co-efficient of rank correlation between x and y. 

      x, y  
      

     

 

         

 

  










 

 

 
 

X 70-80 60-70 50-60 40-50 30-40 20-30 10-20 0-10 

F 11 22 30 35 21 11 6 5 

X 53 98 95 81 75 61 59 55 

Y 47 25 32 37 30 40 39 45 


